Frontal Impact — 1 Axis

DSX Rotary Potentiometer
fs H3, HF, HM, Y6, Y7 and
A IR-TRACC Q1, Q2, Q3, Q6:
transducer:
CHSTO0007??DSX
calculated:

DSX

DSZ I—) DSY

CHSTO0037??DSX
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Frontal Impact — 2 Axis — Variant 1 (Forum)
String Potentiometer H3, HF:
4

transducer:

RIBS! =?2??7?DS0
RIBS! E?2??7?DSX
RIBSR[?2??7?DS0
RIBSR [ ?2???7DSX

calculated:

CHSTI E????DSX
CHSTI E????DSY
CHSTR [ ?2???DSX
CHSTR [ ????DSY
DSX

DSZ I—) DSY

RibEye H3, HF:

calculated:

CHSTI E???2?DSX
CHSTI E???2?DSY
CHSTR 1??2??DSX
CHSTR 1??2??DSY
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Frontal Impact — 2 Axis — Variant 2
String Potentiometer H3, HF:

transducer:

CHSTI E????DS0
CHSTI E????7DS1
CHSTR [1????DS0
CHSTR [????7DS1

calculated:

CHSTI E????DSX
CHSTI E????DSY
CHSTR [ ?2???DSX
CHSTR [ ????DSY
DSX

DSZ I—) DSY

RibEye H3, HF:

calculated:

CHSTI E???2?DSX
CHSTI E???2?DSY
CHSTR 1??2??DSX
CHSTR 1??2??DSY
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Frontal Impact — 3 Axis

DSX
DSY
DSZ
AN
DSO —
ANY/
DSX

DSX

DSX
DSY
DSZ

—DSO0

1

DSZ I—) DSY
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DSX

THMPR H3, HF:

transducer:

RIBS! “UP??DS0O
RIBSRIUP??DS0O
RIBS! =LO??DS0O
RIBSRILO??DS0O
RIBSO000??ANY
RIBS0O000??ANZ

calculated:
RIBS!| =????DSXYZ
RIBSR [ ?2?2??DSXYZ

RibEye H3 :

calculated:
RIBS! E??H3DSXYZ
RIBSR 1 ??H3DSXYZ




Side Impact — 1 Axis

Linear Potentiometer E1, E2, SlI:

transducer:
?2?77?7?1 E?2?27??7DSY

Linear Potentiometer S2:

DSY transducer:
27?7?7771 ES2DSY
IR-TRACC Q1, Q2, Q4:
DSX calculated:
CHSTLEQO0??DSY
DSZ I—)DSY IR-TRACC WS;

calculated:
2?7?71 E??WSDSY
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Side Impact — 2 Axis

IR-TRACC 2D WS:

transducer:
P27?7?1 E?7?7?77DS2
DSX 2997 F2927ANZ

DSY calculated:
DS2 ??27?7?1 E??27??DSX

P??7?1 E????DSY
ANZ

DSX

DSZ I—) DSY
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Side Impact — 3 Axis — S2

DSX
DSY
DSZ

DSX

DSZ I—) DSY
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RibEye S2:
calculated:
SHRI S2DSXYZ
TRRI S2DSXYZ
TRRI S2DSXYZ
TRRI S2DSXYZ
ABRI S2DSXYZ
ABRI S2DSXYZ




Side Impact — 3 Axis — WS

RibEye WS:

DSX calculated:
DSY SHRI WSDSXYZ
DSZ A TRRI WSDSXYZ
TRRI WSDSXYZ
TRRI WSDSXYZ
Bgé ABRI WSDSXYZ
g ABRI WSDSXYZ
SHRI WSDSXYZ
DSX SHRI WSDSXYZ
DSY TRRI WSDSXYZ
DSX DSZ TRRI WSDSXYZ
TRRI WSDSXYZ
I TRRI WSDSXYZ
DSZ DSY TRRI WSDSXYZ
TRRI WSDSXYZ
ABRI WSDSXYZ
ABRI WSDSXYZ
ABRI WSDSXYZ
ABRI WSDSXYZ
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